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6. You take a running horizontal leap off a high-diving platform. You w, ire running at 2.80 m/s
and hit the water 2.60 s later. N—> 2 B mls
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B) What is the vertical speed right before you hit the water?
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C) How far away from the platform did you land? > p
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1L Vector Components (Hint: Sketch a right triangle and label the sides)

1. A projectile if fired with a velocity of 30.0 m/s at 60.0 degrees. Calculate the horizontal
and vertical initial speeds. Y- (= Vicose = (50 OA)CO)({OO 0 ) |/§ omls l
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2. A ball is kicked with a horizontal velocity of 8 m/s and vertical velocity of 4.00 m/s.

Calculate the angle if it was kicked at and initial speed.
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3. A cannon is fired at an angle of 35.0 degrees. If the horizontal component of its initial
speed of 180. m/s, calculate the cannon’s initial speed.
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4. A pu}llpkin is fired with an initial velocity of 120. m/s, at an angle theta above the horizontal.
What is the angle theta if the pumpkin’s initial horizontal speed is 55.0 m/s?
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